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Start each answer on a fresh page
All questions are compulsory
Calculators are not allowed

Q.1 pt the following
Match the following

A

i. Volume of a cylinder

ii. Derivative of sin r

iii. Integral of sinr

iv. Total surface area of a cylinder

v. a, b, c are in A.P then

Q.2 A4swer the following questions (any two)

A. pvaluate the following integrals
,  rzxz+4x+5r .  J :c tx

.. r'ori "*ii. | --dx
J o 

l+ex

B. Fill in the blanks
a. Proper divisors of 4 are
b. The ratio of 45kg and 50000gms is..
c. L.C.M of 23 and 24:..

Marks (1X5)

d. Two numbers are in the ratio 5:7.If the smaller number is 80, the bigger number is

B

a) cosx

b) Zrcr(r + h)
q+c

c )  p  =T

d) 6=1/f r
. 1e)x

D -costr

g) nrzh

Marks (1X5)

e. Cofactor of the maulx  [_4  _1 . |  = . . . . . : . .

Marks (5X2J



n. ifinA the equation of the line through (2, l) perpendicular to the line through (-3,-1)

and (-1,2).
C. Find three numbers in G.P such that their sum is 70 and the product is 8000.

Q.3 A{swer the following (any two) Marks (5X2)

A. Prove that
cos20=cos20-s inz0
s in20=2s in0cos0

8' ]Solve the following sirnultaneous equations by using crarner's rule

2x*7Y=32, tc *Y=tL

,f the matrix [! 71

Q.4 A$swer the following (any two) Marks (5X2)

A. Evaluate the following limits
x2-g

lllIls+3 fr
l r t l

llllll-+2 l.r*.-u- ffi6]i

B. Write z = 2{3 * 2t inpolar form.
C. Discuss thecontinuityof thefollowing function atx =2andx = 4

A<x<2
x-L

f(x) -

r -5

Marks (5X2)

1.

ii.

l .

11.

x*L
x* t

21x54

4<x !6

Q.5 A$swer the following (any two)

A. DifFerentiate the following with respect to r

i. (x' - 3x + 9)12
ii. xz - 5x * t?logx - e2c + L7

B. Find the sum of first n terms of the sequence 2, 1,

of first 10 terms.

C. If d = 2i + 3i - E and| = 4t+ 3i- 2fr, nnd d xE and d'8.
Also veriff that dx6 = -i x d

1

t,
j ,... and hence find the sum
4 '
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